r___F A\ W g __JF W j

FUJ X 1w  PARTING AND GROOVING TOOLHOLDERS / OTPE3HBIE M KAHABOUHBIE [EP)ABKM

qx) EXTERNAL TOOLHOLDERS / OEP>XABKW 014 HAPY>XHOIO TOYEHUA
(5]
= QEED
2
c H § H
N — i i
c
= 8 a !
= || :
~ Wl L
Dimension (mm) Inserts/ Screw/ Wrench/
Pa3mepbl (MM) MnacTuHa BUHT Kniou
Type/
0603HaueHne -
HxB L s w | amax / L (
16X16 100 15 2.5 10
1616R/L10 520 o
1616R/L17 16X16 100 15 2.5 17
20%20 125 19 2.5 10
e o 20%x20 125 19 2.5 17 40ED 02500
X .
2020R/L17 V620 .
2525R/L10 25x%x25 150 24 2.5 10
2525R/L17 25x%x25 150 24 2.5 17
16X%1 100 14.8 3 10
1616R/L10 6x16 520 o
1616R/L17 16X16 100 14.8 3 17
20%20 125 18.8 3 10
QEFD TTEE 20%20 | 125 18.8 3 17 #0FD 0301
2020R/L17 . o0 .
2525R/L10 25%25 150 23.8 3 10
2525R/L17 25%25 150 23.8 3 17
2020R/L13 20%x20 125 18.5 4 13
2020R/L22 20%x20 125 18.5 4 22
25%x25 150 23.5 4 13
QEGD 2525R/L13 ZoCD 04oo
2525R/L22 25%x25 150 23.5 4 22
3232R/L13 32%x32 170 30.5 4 13
3232R/L22 32%x32 170 30.5 4 22
25x%25 150 23 5 13
QEHD 2525R/L13 ZoHD 0500
2525R/L22 25x%25 150 23 5 22
25x%25 150 12.5 5 30 ZoHS 05
QEHS 2525N 30 — — = - = o oo M6x20 -
X
QEHD S232R/L13 ZoHD 0500
3232R/L22 32x32 170 30 5 22
QEHS 3232N 30 32x32 170 16 5 30 ZoHS 0500
25%25 150 22.6 6 13
QEKD 2525R/L13 ZoKD 0600
2525R/L22 25%25 150 22.6 6 22
QEKS 2525N 30 25%x25 150 12.5 6 30 ZoKS 0600
32%X32 170 29.6 6 13
QEKD 3232R/L13 ZoKD 0600
3232R/L22 32%X32 170 29.6 6 22
QEKS 3232N 30 32%X32 170 16 6 30 ZoKS 0600

# Inserts / nnacTuHbl —

www.foxenct.com




F____F A W g _J W J

PARTING AND GROOVING TOOLHOLDERS / OTPE3HbIE N KAHABOYHbIE [IEPYXABKU ’- UA:’ v

EXTERNAL TOOLHOLDERS / OEPXABKU 071 HAPY>XHOIO TOYEHUA EI
ﬁ
S
—,
MGEHR/L S
(@)
! é ! L
h A (:g
T i
|| ; S
w il L
Dimension (mm) Inserts/ Screw/ Wrench/
Pa3mepbl (MM) MnacTuHa BUHT Kniou
Type/
0603HayeHHe .
H L S w amax / ’ (
1616-2 16 100 15 2 14,5 M5x17 sS4
2020-2 20 125 19 2 14,5 MGMN200—M M6 % 20 S5
2525-2 25 150 24 2 14,5 M6 %20 S5
1616—2.5 16 100 15 2.5 16,5 M5x17 S4
2020-2.5 20 125 19 25 16,5 MGMN250—M M6 %20 S5
2525-2.5 25 150 25 2.5 16,5 M6 %20 S5
1616-3 16 100 14,8 3 18 MGMN300—M M5x17 sS4
2020-3 20 125 188 3 18
2020-3-T10 20 125 188 3 10
2525-3 25 150 238 3 18
MGMN300—M
2525-3-T10 25 150 23,8 3 10
3232-3 32 170 30,5 3 18
3232-3-T10 32 170 30,5 3 10
2020-4 20 125 185 4 18
2020—-4-T10 20 125 18,5 4 10
- 25 150 23,5 4 18
MGEHR/L |2525-4 MGMNA00-M
2525-4-T10 25 150 235 4 10
3232-4 32 170 30,5 4 18
iy 32 170 30,5 4 10
3232-4-T10 M6x20 o5
2020-5 20 150 18 5 23
2020-5-T15 20 150 18 5 15
2525-5 25 150 23 5 23
MGMN500—M
2525-5-T15 25 150 23 5 15
3232-5 32 170 30 5 23
3232-5-T15 32 170 30 5 15
2020-6 20 125 17 6 23
2020-6-T10 20 125 17 6 10
2525-6 25 150 22,6 6 23
MGMN600—M
2525-6-T15 25 150 22,6 6 15
3232-6 32 170 29,6 6 23
3232-6-T15 32 170 29,6 6 15

# Inserts / nnacTuHbl —

www.foxenct.com




r___F A\ W g __JF W j

FUJ X 1w  PARTING AND GROOVING TOOLHOLDERS / OTPE3HBIE M KAHABOUHBIE [EP)ABKM

EXTERNAL TOOLHOLDERS / OEPXABKW OJ19 HAPY>XHOIO TOYEHUA

QELIS

@
AN
I
3
3
=
N
>

S
S
=

QEES26N 110 26 19 2 25 60 ZPES02502-MG QS5
QEFS26N 110 26 19 2.4 3 60 ZPFS0302-MG QS5
QEGS26N 110 26 19 3.2 4 70 ZPGS0402-MG QS5
QEHS26N 110 26 19 5 70 ZPHS0503-MG QS5
QEKS26N 110 26 19 6 70 ZPKS0604-MG QS5
QEES32N 150 32 24.6 2 25 100 ZPES02502-MG Qs5
QEFS32N 150 32 24.6 2.4 3 100 ZPFS0302-MG Qs5
QEGS32N 150 32 24.6 32 4 120 ZPGS0402-MG Qs5
QEHS32N 150 32 24.6 4 5 120 ZPHS0503-MG Qs5
QEKS32N 150 32 24.6 6 120 ZPKS0604-MG Qs5

#” |nserts / nnacTUHbI —

Wrench must be ordered separately / Kntoy 3akasbiBaeTcs oTaenbHO

www.foxenct.com




PARTING AND GROOVING TOOLHOLDERS / OTPE3HbIE N KAHABOYHbIE [IEPYXABKU

F____F A W g _J W J

FUAXRELCIv

EXTERNAL TOOLHOLDERS / OEPXXABKW OJ19 HAPY>XHOIO TOYEHUA

QZs

— 7

Q752026 86 20 10 | 466 | 19 | 38 PHS26
Q752526 86 25 466 | 23 | 42 PHS26
QZS3226 86 32 516 | 30 | 48 PHS26
QZS2032 110 20 13 50 | 19 | 38 PHS32
QZS2532 110 25 50 | 23 | 42 PHS32
Q753232 110 32 54 | 30 | 48 PHS32

M6x20

S5

www.foxenct.com

g
=
=
Q
~
251
-
D
T
<
D




r___F A\ W g __JF W j

FUJ X 1w  PARTING AND GROOVING TOOLHOLDERS / OTPE3HBIE M KAHABOUHBIE [EP)ABKM

g PARTING AND GROOVING TOOLHOLDERS / OTPE3HbIE N KAHABOYHbIE JEP>XXABKU
5
- C*QEDR/L
R
S
— ©
S : ¢
: 4+ Hiar
= h : -
Dimension (mm) Inserts/ Screw/ Wrench/
Pa3mepbl (MM) MnacTuHa BuHT Kniou
Type/
0O603HayeHue -
od L s W |amax [ oD / « r
C20Q-QEDR/L 05-27 20 180 15.2 2.5 5 27 M4x14 S3
ZTED**%%k—%%
C25R-QEDR/L 07-33 25 200 203 2.5 7 33 ZRED##xkk—%k M5x17 sS4
C32S-QEDR/L 09-42 32 250 253 25 9 42
C20Q-QFDR/L 05-27 20 180 15.2 3 5 27 Max14 S3
ZTFD**xx—x%
C25R-QFDR/L 07-33 25 200 203 3 7 33 ZRF Dk —kx M5x17 s4
C32S-QFDR/L 09-42 32 150 25.3 3 9 42
C25R-QGDR/L 08-35 25 200 215 4 8 35 M5>17 S4
ZTGD*xx%x—xx
C32S-QGDR/L 11-44 32 250 215 4 1 44 ZRG Dk —k M6 20 S5
C40T-QGDR/L 13-54 40 300 335 4 13 54
C25R-QHDR/L 08-35 25 200 215 5 8 35 M5>17 4
ZTHD**xx—%x
- _ 2 250 27.5 5 11 44
C32S-QHDR/L 11-44 3 ZRHDwxxx—sk M6 X 20 S5
C40T-QHDR/L 13-54 40 300 335 5 13 54
C25R-QKDR/L 08-35 25 200 21.5 6 13 35 M5Xx17 S4
C32S-QKDR/L 11-44 32 250 27.5 6 22 44 ZTKD bk —x
CA0T-QKDR/L 13-54 40 300 335 6 13 54 ZRK D M6x20 S5
C50T-QKDR/L 13-64 50 300 38.1 6 30 64

# Inserts / nnacTuHbl —

www.foxenct.com




F____F A W g _J W J

PARTING AND GROOVING TOOLHOLDERS / OTPE3HbIE N KAHABOYHbIE [IEPYXABKU ’- UAEI v

INTERNAL GROOVING TOOLHOLDERS /OEP>XABKW O0J14 TOYEHUA BHYTPEHHUX KAHABOK EI
ﬁ
S
—,
MGIVR/L S
(@)
L
T
D
Dimension (mm) Inserts/ Screw/ Wrench/
Pa3mepbl (MM) MnacTuHa BUHT Kniou
Type/
0603HayeHne -
ad L S w amax / ( (
2016-1.5 16 180 11.3 1.5 3 M4x14 s3
2520-1.5 20 180 13.1 1.5 4 MGMN150—M M5x17 sS4
2925-1.5 25 200 16.2 1.5 4 M5x17 S4
2016-2 16 125 12.4 3 M4 x 14 S3
2520-2 20 125 14 5 MGMN200—M M5x17 S4
2925-2 25 200 17.2 5 M5x17 sS4
2016-2.5 16 125 125 2.5 6 M4x 14 s3
2520-2.5 25 180 15.1 2.5 6 MGMN250—M M5x17 S4
2925-2.5 25 200 16.2 2.5 6 M5%17 sS4
2520-3 20 180 15.6 3 6 M5Xx17 sS4
3125-3 25 200 18.9 3 5 MGMN300—M M5x17 sS4
3732-3 32 250 21.5 3 6 M5 % 20 S4
MGIVRIL  1,:50_4 20 180 15.6 4 6 M5x17 s4
3125-4 25 200 18.9 4 6 MGMN400—M M5X17 S4
3732-4 32 250 21.5 4 6 M5x%20 S4
3125-5 25 200 19.1 5 8
MGMN500—M
3732-5 32 250 21.5 5 8
- 25 200 19.4 6 8
3125-6 MGMN600—M
3732-6 32 250 215 6 8
- 32 250 232 8 10
37328 MGMN800—M M6 %20 S5
4540-8 40 300 27.2 8 10
- 25 200 19.4 6 8
312564 MGMN600—M
3732—-6A 32 250 215 6 8
3732-8A 32 250 23.4 8 10
MGMN800—M
4540—-8A 40 300 27.2 8 10

# Inserts / nnacTuHbl —

www.foxenct.com




r___F A\ W g __JF W j

FUJ X 1w  PARTING AND GROOVING TOOLHOLDERS / OTPE3HBIE M KAHABOUHBIE [EP)ABKM

Q:) EXTERNAL TOOLHOLDERS / OEP>XABKW 014 HAPY>XHOIO TOYEHUA
i
= QEED
2
N
8 H i H
N —
c
S B ar ¢ W
I\ L
Dimension (mm) Inserts/ Screw/ | Wrench/
Pa3mepbl (MM) MnacTuHa BuHT Kniou
Type/
0603HayeHne b -
HXB L S w a (mi?—Max) / « (
QFFD2525R/L10-48H 25%25 150 26 3 10 48-66
QFFD2525R/L17-48H 25x25 150 26 3 17 48-66
QFFD2525R/L10-60H 25x25 150 26 3 10 60-80
FFD2525R/L17-60H 25%25 150 26 3 17 60-80
gFFD2525R/|_1 0-74H 25%25 150 26 3 10 74-110 £TFDOS03ME
QFFD2525R/L17-74H 25%25 150 26 3 17 74-110
QFFD2525R/L10-100H 25%25 150 26 3 10 100-150
QFFD2525R/L17-100H 25%25 150 26 3 17 100-150
QFGD2525R/L13-52H 25%25 150 26 4 13 52-72
QFGD2525R/L22-52H 25%25 150 26 4 22 52-72
QFGD2525R/L13-64H 25%25 150 26 4 13 64-100
QFGD2525R/L22-64H 25%25 150 26 4 22 64-100
QFGD2525R/L13-90H 25%x25 150 26 4 13 90-140 £TGD0404MG
QFGD2525R/L22-90H 25%25 150 26 4 22 90-140
QFGD2525R/L13-130H 25x25 150 26 4 13 130-230
QFGD2525R/L22-130H 25%x25 150 26 4 22 130-230
QFHD2525R/L13.68H | 25%25 | 150 2% 5 13| 589% I
QFHD2525R/L22-58H 25x25 150 26 5 22 58-96
QFHD2525R/L13-86H 25x25 150 26 5 13 86-140
QFHD2525R/L22-86H 25x25 150 26 5 22 86-140
QFHD2525R/L13-130H 25%25 150 26 5 13 130-200 |ZTHDO0504-MG
QFHD2525R/L22-130H 25%25 150 26 5 22 130-200
QFHD2525R/L13-185H 25%25 150 26 5 13 185-400
QFHD2525R/L22-185H 25%25 150 26 5 22 185-400
QFHS2525R/L30-185H 25%25 150 26 6 30 185-400
QFKD2525R/L13-60H 25%25 150 26 6 13 60-100
QFKD2525R/L22-60H 25%25 150 26 6 22 60-100
QFKD2525R/L13-88H 25%25 150 26 6 13 88-180
QFKD2525R/L22-88H 25%25 150 26 6 22 88-180 |ZTHD0608-MG
QFKD2525R/L13-160H 25%x25 150 26 6 13 160-400
QFKD2525R/L22-160H 25%x25 150 26 6 22 160-400
QFKS2525R/L30-160H 25x25 150 26 6 30 160-400

# Inserts / nnacTuHbl —

www.foxenct.com




F____F A W g _J W J

PARTING AND GROOVING TOOLHOLDERS / OTPE3HbIE N KAHABOYHbIE [IEPYXABKU ’- UAEI v

EXTERNAL TOOLHOLDERS / OEP>XXABKW 014 HAPY>XHOIO TOYEHUA EI
3,
QFGD 3
N
75— -
H H L
D
S : <
w ar L f'D
Dimension (mm) Inserts/ Screw/ | Wrench/
Pa3mepbl (MM) MnacTuHa BuHT Kniou
Type/
0603HayeHne
HXB L s w 8 | miwtan / « (
QFFD2525R/L10-48L 25%25 150 36.5 3 10 48-66
QFFD2525R/L17-48L 25%25 150 43.5 3 17 48-66
QFFD2525R/L10-60L 25%25 150 36.5 3 10 60-80
QFFD2525R/L17-60L 25%25 150 43.5 3 17 60-80 JTFDO303-MG
QFFD2525R/L10-74L 25%25 150 36.5 3 10 74-110
QFFD2525R/L17-74L 25%25 150 43.5 3 17 74-110
QFFD2525R/L10-100L 25%25 150 36.5 3 10 100-150
QFFD2525R/L17-100L 25%25 150 435 3 17 100-150
QFGD2525R/L13-52L 25%25 150 39.5 4 13 52-72
QFGD2525R/L22-52L 25%25 150 48.5 4 22 52-72
QFGD2525R/L13-64L 25%25 150 39.5 4 13 64-100
QFGD2525R/L22-64L 25%25 150 48.5 4 22 64-100
QFGD2525R/L13-90L 25x25 | 150 39.5 4 13 So1ag | 1o AeAMS
QFGD2525R/L22-90L 2525 150 48.5 4 22 90-140
QFGD2525R/L13-130L 25x25 150 395 4 13 130-230
QFGD2525R/L22-130L 25%25 150 48.5 4 22 130-230 MEX20 <5
QFHD2525R/L13-58L 25x25 150 395 5 13 58-96
QFHD2525R/L22-58L 25x25 150 48.5 5 22 58-96
QFHD2525R/L13-86L 25%25 150 39.5 5 13 86-140
QFHD2525R/L22-86L 25%25 150 48.5 5 22 86-140
QFHD2525R/L13-130L 25%25 150 395 5 13 130-200 |zTHD0504-MG
QFHD2525R/L.22-130L 25%25 150 48.5 5 22 130-200
QFHD2525R/L13-185L 25%25 150 395 5 13 185-400
QFHD2525R/L22-185L 25%25 150 48.5 5 22 185-400
QFHS2525R/L30-185L 25%25 150 56.5 5 30 185-400
QFKD2525R/L13-60L 25%25 150 395 6 13 60-100
QFKD2525R/L22-60L 25%25 150 48.5 6 22 60-100
QFKD2525R/L13-88L 25%25 150 39.5 6 13 88-180
QFKD2525R/L22-88L 25%25 150 48.5 6 22 88-180 |[ZTKD0608-MG
QFKD2525R/L13-160L 25%25 150 39.5 6 13 160-400
QFKD2525R/L22-160L 25%25 150 48.5 6 22 160-400
QFKS2525R/L30-160L 25x25 150 56.5 6 30 160-400

# Inserts / nnacTtuHbl —

www.foxenct.com




r___F A\ W g __JF W j

FUJ X 1w  PARTING AND GROOVING TOOLHOLDERS / OTPE3HBIE M KAHABOUHBIE [EP)ABKM

qx') EXTERNAL TOOLHOLDERS / OEPXABKU 0719 HAPY>XHOIO TOYEHUA
S
| QFHD
@)
~ . L
> T— :
i ;]
S | A B!
S
= .
n="1 “
i 1
Dimension (mm) Inserts/ Screw/ | Wrench/
Pa3mepbl (MM) MnacTuHa BUHT Kniou
OGOZIl;iIeuue -
HXB L s w 8 | (miwtan / ’ (
QFFD2525RR10-48H 25x25 150 26 3 10 48-66
QFFD2525RR17-48H 25%25 150 26 3 17 48-66
QFFD2525RR10-60H 25%25 150 26 3 10 60-80
QFFD2525RR17-60H 25%x25 150 26 3 17 60-80 JTFDO303-MG
QFFD2525RR10-74H 25%x25 150 26 3 10 74-110
QFFD2525RR17-74H 25%x25 150 26 3 17 74-110
QFFD2525RR10-100H 25%x25 150 26 3 10 100-150
QFFD2525RR17-100H 25%25 150 26 3 17 100-150
QFGD2525RR13-52H 25x25 150 26 4 13 52-72
QFGD2525RR22-52H 25%25 150 26 4 22 52-72
QFGD2525RR13-64H 25%25 150 26 4 13 64-100
QFGD2525RR22-64H 25%25 150 26 4 22 64-100 S TED0A0AMG
QFGD2525RR13-90H 25%25 150 26 4 13 90-140
QFGD2525RRL22-90H | 25%25 150 26 4 22 90-140
QFGD2525RR13-130H 25%25 150 26 4 13 130-230
QFGD2525RR22-130H 25%25 150 26 4 22 130-230 M6 20 S5
QFHD2525RR13-58H 2525 150 26 5 13 58-96
QFHD2525RR22-58H 2525 150 26 5 22 58-96
QFHD2525RR13-86H 25%25 150 26 5 13 86-140
QFHD2525RR22-86H 25%x25 150 26 5 22 86-140
QFHD2525RR13-130H 25%x25 150 26 5 13 130-200 |ZTHDO0504-MG
QFHD2525RR22-130H 25%25 150 26 5 22 130-200
QFHD2525RR13-185H 25%x25 150 26 5 13 185-400
QFHD2525RR22-185H 25%x25 150 26 5 22 185-400
QFHS2525RR30-185H 25%25 150 26 5 30 185-400
QFKD2525RR13-60H 25%25 150 26 6 13 60-100
QFKD2525RR22-60H 25%25 150 26 6 22 60-100
QFKD2525RR13-88H 25%25 150 26 6 13 88-180
QFKD2525RR22-88H 25%25 150 26 6 22 88-180 |ZTKD0608-MG
QFKD2525RR13-160H 25%25 150 26 6 13 160-400
QFKD2525RR22-160H 25%25 150 26 6 22 160-400
QFKS2525RR30-160H 25%25 150 26 6 30 160-400

# Inserts / nnacTuHbl —

www.foxenct.com




F____F A W g _J W J

PARTING AND GROOVING TOOLHOLDERS / OTPE3HbIE N KAHABOYHbIE [IEPYXABKU ’- UA:’ v

EXTERNAL TOOLHOLDERS / OEPXABKU 071 HAPY>XHOIO TOYEHUA EI
S
QFKD E
Wi f—— 1 \
S a, @ lB 8'
L L
D
A |\ l §
H j D
Dimension (mm) Inserts/ Screw/ | Wrench/
Pa3mepbl (MM) MnacTuHa BUHT Kniou
OSOZII:Ieuue .
HxB L s w a (migaax) / ' (
QFFD2525LL10-48H 25x25 150 26 3 10 48-66
QFFD2525LL17-48H 25x25 150 26 3 17 48-66
QFFD2525LL10-60H 25%25 150 26 3 10 60-80
QFFD2525LL17-60H 25%25 150 26 3 17 6080 | oams
QFFD2525LL10-74H 25%25 150 26 3 10 74-110
QFFD2525LL17-74H 25%25 150 26 3 17 74110
QFFD2525LL10-100H 25%25 150 26 3 10 100-150
QFFD2525LL17-100H 25%25 150 26 3 17 100-150
QFGD2525LL13-52H 2525 150 26 4 13 52-72
QFGD2525LL22-52H 25%25 150 26 4 22 52-72
QFGD2525LL13-64H 25%25 150 26 4 13 64-100
QFGD2525LL22-64H 25%25 150 26 4 22 64100 | sonnic
QFGD2525LL13-90H 25%25 150 26 4 13 90-140
QFGD2525LLL22-90H 25%25 150 26 4 22 90-140
QFGD2525LL13-130H 25%25 150 26 4 13 130-230
QFGD2525L122-130H 25%25 150 26 4 22 130-230 o .
QFHD2525LL13-58H 25x25 150 26 5 13 58-96
QFHD2525L122-58H 25x25 150 26 5 22 58-96
QFHD2525LL13-86H 25%25 150 26 5 13 86-140
QFHD2525L 1. 22-86H 25%25 150 26 5 22 86-140
QFHD2525L113-130H 25%25 150 26 5 13 130200 |ZTHD0O504-MG
QFHD2525L122-130H 25%25 150 26 5 22 130-200
QFHD2525L113-185H 25%25 150 26 5 13 185-400
QFHD25251122-185H 25%25 150 26 5 22 185-400
QFHS2525L130-185H 25x25 150 26 5 30 185-400
QFKD2525LL13-60H 25%25 150 26 6 13 60-100
QFKD2525LL22-60H 25%25 150 26 6 22 60-100
QFKD2525LL13-88H 25%25 150 26 6 13 88-180
QFKD2525L1.22-88H 2525 150 26 6 22 88-180 |ZTKD0608-MG
QFKD2525LL13-160H 25%25 150 26 6 13 160-400
QFKD2525L1.22-160H 25%25 150 26 6 22 160-400
QFKS2525L1.30-160H 25%25 150 26 6 30 160-400

# Inserts / nnacTuHbl —

www.foxenct.com




